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A teacher teaches three subjects - Math, Science, and History. The subjects are
1 46 taught on consecutive days. Math is taught before science, and Science is Freear
: taught before History. On which day is Science taught?
2 153 The truth table for the SOP expression has how many input combinations? e
107 Which of the following is not a disadvantage of wireless LAN? e
4 147 Determine the values of A, B, C, and D that make the sum term equal to zero. e
5 15 According ta Census 2011, what percentage of Slum Population is in Uttar T—
Pradesh?
A man is facing north-west. He turns 800 in the clockwise direction, then
6 79 1800 in the anticlockwise direction and then another 900 in the same v
direction. Which direction is he facing now?
7 88 The two basic types of memory in a computer are . e
8 109 A___ isasetofrules, e
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1 18 :}nt‘ernatilonal Cricket Stadium in Varanasi is Boa rq of C-ontro‘i Both A and B
eing built by, for Cricket in India

If "APPLE" is coded as "BQQMF,” how will

2 43 "ORANGE" be coded? PSBMDF PSBOHF
3 58 FAG, GAF, HAI, 1AH, HAL JAK
Which of the following isn’t a characteristic of platform .
4
100 High-level languages? independent machine code
Atableina
5 134 What is a table in a relationat database? re:iattonaE de?tabase All of the
is a collection of above

rows and cofumns.
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Relational
Relational DBMSs, DBMSs,
. ohject-oriented hierarchical
6 136 What are the three maint f DBMSs?
aintypeso DBMSs, and NoSQL DBMSs, and
DBMSs. networlk
DBMSs,
If you write down all the numbers from 1 to
7 77 21 20
100, then how many times da you write 37
intranet:
Private,
, Extranet:
Intranet and Extranet differs at Intranet: Private, .
3 113 \ Private and
Extranet: Public
also atlowed
authorized
partners
P T
Which of the following diagrams indicates the T, : o
9 59 best relation between Profit, Dividend and [_L} r ) fr O ( ) )
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10 31 According to Internet in india Report 2022, Goa Maharashtra
which state has most number of internet users?
You are the team captain, and your team is '
11 44 trailing by one point with only a few seconds Attempt a three- Go for a two-
left in the basketball game. What will you point shot point shot
decide to do?
Choose the box that is similar to the box
formed from the given sheer of paper (X).
12 52 B 3 2
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13 11 Who wrote the book “Reform Nation” ? Meghnad Desai .
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